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[SET-I]

Group. Electrical Electronlcs & Computer
Booklet Series A a

 Maximum Marks: 150 . . ' 'I‘lmcl.?.oﬂours

- NOTE:. There are 150 questions in tlus booklet. Against- w:h quﬁtlQﬂ; fO',If -ltsmu.tm are
given out of which only ofi® is-correct enswer..Indicate your choice of ansiwet by darkening the
. suitablé circle with Black/Blue BallPen in'the OMR answer sheet supplied to you séparately .
One mark will be awarded for each correct answer. It is important to note that for -
‘incorrect answers; negative mrh will be aw:rded Etch w:roug lnsm‘:r wlll lﬂlﬂt’ in
. deduction of 1/4 marks.. - - - o o Satity ¢ @ W

|1 rowmﬂmamofmmnaanmpiﬁlmmanmammmeq;dlhﬁahmawrﬁd
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|B. 881 . - Q-AGEBI
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2" Sl}:pplvm"casﬂahhadl'husodfu AR S
' rﬁ:mnucdoalgn ce L 7 _--‘c.=-1dealpro}m

: B'. “Peffectplan < 1 - . fo. _\rn;qnwmm“ - ,
3. Ihmwaprefenmﬂ'& tea . - - Tt et xR ek = o3
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'.B.h I L

|4 Mnmlsdvervdwnlmyoung. - s :" R
- A_ Sha: '_‘ . : ) p"‘ m'_". . o " ry
B. shoud - . - . - " |D. coud.

" 5 Hoﬁld;'Oawpolm‘lk.’ e Coe ' B T
‘[ /A" Ha s'rongly cesired for a cup of mitk. C. He ordered for'a cup of milk. '
B. . He said for a cup of mik. -~ |D. He requested for cup of milk. -

6 | Ha cald to me, "Congratulations.” _ - -
A He told ms to congratulations. . ‘| C. He conglatulaled me.

|  [B. Heexédmatocongratulate. - . |D. How:shedmathatlwasoongratulaﬁom.
17 cn'azngehtopast&::nfmuodawnse - Does ha taks coffea? _ :
A Didhetakscoffee? -~ - - C. DK he taking coffee?

B Viashetakingcoffee? - . - | D. s he taking coffee?

8 | The next number Irt the serles 2.5,10,17.28._Is
1 A2 .  Je. %
B. 37 _ ' . |p.” 31
9 mmmwsmombemodham
A 351 v C. 356 .
8. 352 ' ' D. 370

.
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10 | On Kidney fallure, blood Is purified by: - - S -
A Blopsy C. Endoscopy PR
B. . Anglography | 0. "Dia lysis ' S
11 | Biokgical mariage stwuldbom'ddedlr'.bah\rean L e

|.A. Rh".male and Rh female

C. Rh male andRh female e

B. RhmnloandRh!amala '

D.” RAR' maleandRh ferml&___________...__-

12 Nﬁdloimefoﬂmﬂngbpopulanyhmhasbeshbandhu? .-.-., L
T A Aurobindoﬁhosh RS el o€ BalGaﬁgadharThk RS |
B. GB.Pamt - . - .- |D cmuaranjannm _;T‘ I
13 | Suttan Tipu di d’edﬁghtngmeEngﬂshfwoesunder oo T _--
| A, Lord Wellesley C. 'Lorguqi}wus]a RS
.| B.. Lord Comwallis g _p_.LqrqHas[iﬁgs P g
14 | Akbar dofeated Hemi In'the Ty e '
1 A . Battie of Tallkota - C: Bale of Haldighgli. - - - v b

B. -Second baltie of Panipat

mmmmmmm%manandmﬁmmu

D Trind balleoF Pahipat. s v 22

15|
1" TA 8 - R O G R
B." 56 St D. 58 ,
16° Wmutfnlumglsmaauuﬂoﬂhefamousbobk'ﬂa&mmﬂ
’ﬁ ﬁm@!‘ . L W G- kﬂl’i“aﬁ : - i
: B.- Rousseau=® "~ . : D. Voltaire .- .”'-.‘.;:.,'.*"-. > N
17 -Inﬂthﬁ&nfolbudnncmmmucﬁdmmdummawuhmﬁmiﬁk&phm -t ]
A UK . C. ' Gemmany .- il :
“ | B,: USA . 10. Francn"'- '
18 Ar.permamn:“trlhnof inwa,Wmanymembers canbanommated to the Ra;ya Sabha by the
‘President.af India? . ’ )
{A (10 C. *14
B. 12 . _ D. 18
19°| The <trait of Malacca'passes between: . e ] ’
A Malaysia and Indonesia C. Philippines and Viatriam a
B. Indonesia and Philippines D. India'and Myanmar .
'20 mﬁmofmefnlbvdnawntrbm!amefm;hanmenwmeﬂed?
A Watervapal‘ C. Carbon monoxide
B. Ozone

p.' Caibon dioxide

21 Nmb«dang-lhnadesforlldmﬁtalls .
A_ 1 ) Cc. 3
B..2 ) D. 4 . ”
22 mmmmﬁmdmmmmudmmmmmmmh ;e
A 2612p° : C. 4s’4p ."
B, 353 D. 5s'5p’ '
g -
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23 mhdhabwnghumaﬂnumnwnberddm?smmaancSNamdMu 12¢ |
mol”, 32 g mol”, 2agmor 108gmaf‘|'aspedml)‘ ) . .
A 24golC C.: 2390I'Ha v
; B. 48gofS . . |0 106goan
124 mmdmatoaomg hashlghestma:s? :
A." 20 gphosphotous - | C: | Emolofwalar -ty
B. 2 equivalent of Na,CO, 12:10“ntmdﬁydmen
25 nmnomifyofoauphasmomusaddm,mh” AR : -
A 0.1 . C. 06 -
B. 03 - . 1o o9 _. "
26 Ihg;&a;mfﬁgcmmlpnmamomsagomacmaddodtanmuu:nmnwnm&aad iy
1A 482g. . |c, 7.18g
| B 574 X o 820 - - ¢
27 W’Ndlhbchmlwelallommahfdmgenajoml qheothapmhnbutmi,ﬁnlapfm? .
A 2 R ik |-
28 ?wkmdempmmdmhmmmmumhmmof _
- A 88101 L. ]C. 901103 St LT St
- | B."8aw02. .. : o, S110.10% - E e e
a'mdmmmmmwm?; ‘
X A Co : c: N ." :l
.- |B:sCu . S D.-.Zn. . . ™
130 Themn&dorderotjoniiahonenergﬂs R
| JA - c>N>0. C. C<N>0:- --
4 B c>N<O. % fp: € <N<O B
1 31 | Which of the fol]owmg wﬂl hava Ihe Iowest value of electron affinity?
A. Be .- C.. Cl .- - A
| B: N ] . D. B .
32 Thumdewlahaﬂngoneunpalradelectronb - .
© |A. NO . |C. 0z - ]
B: €O .- {o: en - g ‘
a3 mbondspmsenthﬂ,osm ’
LA Onlylonke . . - C. Covalent and coordinats
" [B. Onlycovalent .. "~ - D. Covalent and lonkc :
34.| Which of the folloiving molecules is paramagnetic?- '
© A -y S C. 0, .
B -G D.- Nz
35 Onhybrﬂhnﬁondmesmonepablab.weget : e
A. Two mutually perpendicular orbitals C. Four orbitals directly tetrahedrally
5 .
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B. Two«blahat‘iw

D. TMeotti‘Iﬂbhaplam

SB'Neaboundedhymamweynx’ ﬂwx—aﬁamﬂhamm::=-2mld x= 1L’-
A9 c. &
B, = b L
I 4, M
37 | The Integrating faclorufthe differential equation Jrc—- y= Zx’h
A e e C. .c"' :
‘B.,'_ '} : | R RS D. x
"1/38 | Whatls ths minimum.value of =7 . -
A e _ C. 1. .
B, L - D. 0
39 Ma.ﬁoe:handBwﬂlbahvcrsuuleachotherowbif— ' R
<A, AB=BA- .-cmuaal_;
B. AB=BA=0 - - |o. mu&m | L
40 mmmdshmmtumwﬂmmmﬁmwaw - g
A 1. i Lc, k. wheie k<1, i
B. kﬂhmkﬂ , L | o...None pf these
41 Thegenefalmmonotdiffarantalequahqne’dy+(ye'+2x}dxnoh
A x8' +X2=C. C.. p+x‘=c O
B.. 8"+ Y=Cuing '

deasystmotﬁnwequaﬁonuﬂy-a :+y-z- :

42 . .
Ao x=, =1 - | c. Nosdution -
. | B. x=0, y==1 D Ihﬁ-lilelymnysom{ianf
43 | Convert the binary nurnber toits demmal cqun.'alent (101.1011)2=(? o
Al 4125 C. 56875 -
B. ‘56125:. D. T7.125
44 | I Blsthoangelbehveenhvoveclorsaandbmana b= 0 only when
A "0< a-:- 1c 0>e>-3
_ | B.- osas-' D. ozaz-—.'
45 mequauondparabdammhpasmmmﬁhmohmahndutmhmno x-‘l—y =0and
| thecircle X2 +y* +4y=0ls
A Y =4x C. y’=2x
|B. ¥=x © | D.. None of thess
46 | ffy= cos', m-!-memudym - e
A <coty cosec2y ‘| C. —secycoty.
B. -tany sec2y D. None of above
47 mmﬂmq{&fé)mh :
: a .

Scanned by CamSca.nne-r |




| 111 (Grp:EEC) /A2014
A thzxiw C. %x%d--;-x’-i-c,
B. xd+2sitc 0. 3. tdie
dx .
4 Iﬁ+h+:equa’ls : :
A. xtan'(x+1)+C C. .tan'(x+1)+C
B.: (x+1)tan"'x+C D. _ None of these , !
49| = '
| [lstnxddx = .
A1 vl T e 1 _ P
B:' 0+ . T . S .D. Does not exist '
50 1. sin®@ 1
| LetA=|-sing 1 sine), Mmeuse«eznmen
" U—=1 -sin@ 1 J
A DeffA)=0 Q.,I:Dpt(A)e(;,{) ' A
| B. DeliA) & @=): . | D D) €24l y
51| sintany), lx'<1hequhlto G e et S 4
| = e e ~.3%
Y I.-I}_.:o L. te ' ’,' m ."_" : I -
o : : = _
N LR i
| 62 Thabcdm:drnwnvaluooff(x) x+-.xen-‘-[01u S
A 4 ' e 2 .
B. -2- .~ R - B S, - :
53 m:u-.geofF R-)R.lor!{x) [slnx}h DS '
A _EL0.1- Jooz. 3
B. (1.0,2) - oo RS _
1 64 ‘mmbemmmoplaneszx+3y+4z 4und4x+ey+sz-12l,, . v
‘A, 2uonfts. . Tt N C. 8unlts - “ 7
B 4uws” . -~ .. | D.. Noneofthese
56 [ 1°C,a="C then find 10 e :
' A.T72° .C. 306 -
B. 153- - : D. 2556 .
'56" Eectromgnellcwavesmproducedby e B
A. Neutral particles -~ - - C. Adstatic charge
‘B. A uniformly moving particle D.. Anaccelerated charge,
‘87 hummﬁgmmmﬂmommmmMﬂeﬂcmm
' A zei‘o |G wz
|8 w4 ’ “ID. w.
68 ‘AWWBMmhmmm:mbhwmeWmnmh
A 410m - , C. 41km .
B. '41km D. 58km
. .7 4 .
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59

In a frequency modulated wave

A. ‘Amplitude varies with time

C. Amplitude and frequency both vary with time

B. Frequency varies with time"’

D. Ampliude and frequency, both are steady

=

60 | If the speed of light were 1/3 of the present value, the energy released in a given atomic exposure’ |
. _wﬂbudeaeasadbyafmcﬁon ; ; B . e :
A 23 c. 1B
B - L D. 88 '
61 | The phenomenon of diffusion occurs In - ' - -
‘A, Gases only RO C. Solid only
B. Uquidony . . .= .° D. . Sofid, Liquid and Gases
62 | Boyle's aw is applicable for an . . o
A " adiabatic process. “*|'C. ‘lsobaric process.

B.- isothern"lalprocoss

D. - sochoric process—— -

63

"mdeOfH:EalhmntéhedlnaboxolvolwneH 100m’atT= 300}(1hﬂgasisheatedtoa .

temperature of T'= 3000K and the gas gets con
pressure would be (considering-all g:asaa h be

hagasdhydmgen am Th:‘ﬁnal

A. -same as the pressure inltially.

N

c. 1Utﬁn&tmammw

B. 2fimes tha pressura Inftially.

r

D zummmqpas;lrehﬂaﬂy

A 200m long train traveling af speed-40mvs oVertdkes anothicr lra!nofﬂ:)Orh lengmmﬂhu at

3W&Thatu’mtakmhyuuﬁsthahhpassmqmdtrahh 1 L 'f“ S
JA 108 L R [ A R T L M
B. 30s ‘D, 708 VoL -V .

Abodyiswﬁdmmmumienrmdm

mm:hasaﬁ'angmawao&yonmiw
Isﬂui:wvdodtyulanypommarwlﬂpath.

A 2ms .-

Gviﬁ'mf:

B.. 10m/s =

| D.” 20 fs

5

If a particle rrmnshncirda dmi:ingequalangl&snequafﬂmes.itsvebdtyvedﬂ

A. Remains constant

C. -Changes in magnitude

B. Changes In direction

D. Changes both in ditection and magnitude

67,

Time of flight of a projectile over an lnc:l‘ ned plan

e depends upon .

A.  Angle of projection

-l

C.° Vector direction of Initial velocity

"| B. - -Angle of inclination of the plane

D. Aldofthe above -

.BB

T‘J,-ucrwtardm.ﬂandﬂareofmésamelhidm
mnerdofkmﬂudhasmpamdto%om

mThodiamalerdAbtmmmatnfB The

Is

A Twica as large’

C. 16 Ilmes as-larga

B. 4 times'as large

69

mebddmwﬂumhamﬂonwwnﬂh_

A. Infinlte

C. 10sec -

1B. zer0

D. lmegular

70

Keple's seamdhwmgard'mmhmydmbhlvabdtyofaphnahamoqumaﬂhe

taw of conservation of
A Energy

C.. M."luhr momentum

B. Linear momentum

D. None<of these *
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71

mdmmmmeﬁe—mammn N
A) Analysis — Design — Coding — Testing —+ Operation and Maintenance
B) Design — Analysis — Coding — Testing— Opdmﬂon and Mahtmancu
C) Design — Analysis — Coding — Testing _ .
D) Analysis — Design — Coding — Operation and Malintenance — Softmlf.ﬁ Development

172

o software engineerlrig, Il requirements are frequently changing, whlch model Is best sulted?
A) Waterfall .
. B) Spiral
C). Prototype
. D) RAD o™

-~
~

absumuusedhbomsuuaumddeﬁmmoqea-owmddeshmm
abstmdion Is only used in object-oriented design.- o )
A) Fast, Slow
B) Data, Procedural .
C) Procedural, Date 4 .-
D) Offdine, On-line - . & 7 ¥ % e

T4

Wl-nttmnhmedhffesaboahm%tﬁhhd{nammﬂmmmth
mmmwmammmﬁ A b N
L T A
¥ . N . sy mE e Y87 w e
= 4)rehim2 - T i g
. else  retum 2°F (n+1) g, £ *

178

‘Mﬁllslhevaheofvarhbhzaﬂerexecuthgthehuo\ﬂngc-mde?

‘ntx=5;
. Inty=8
. intz=5
i (x>3)
' . ity>4)
. K(z>5)
) - ze= 1
else.
Z+4+=2;
-else N
z+=23; .
z+=4;
A9 ‘ o .
By 5 .- i e . ’ .o
c 1" '
D)7

_ m:hmodlumofuwﬂodaanmshn(:!+B+C)(A+B+C)(A+B+C) Is:

A (C+4B)
. B) (C+4B)

C) (A+BC)
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D) (Z+FC)

%I;l;o; uz\e following decimal numbers has anaxactrepmsmtatlunhblnary nolallon?
B) 0.3 . : - - - -
C) 0.4 - - 3
D)0 B '
. If an integer needstwobﬁesolslomge then maxhnum value ol' nslgnedhteger '5 s
B A) 216 ] s '_"-__ . ‘ _ . )
B) 2[5 _h . S, .. -~ . . . /
c) 216 o PR o .
D) 2!5 -i _ - . :
. Bm.16—b‘rt’two's complement form of -93is - . .
A) 1111111110100011 . . b "
_ B) 1111111110100010 - - Lo n clﬂ"
. Cy 1000111Hi1410000 - —~ - . i Sﬂe
D) 1000111111110001 e Wi T - '

Thﬂﬂddl"ﬁﬂﬂﬁ mode foranoperand deﬁnﬁhowme add:essdﬂwo hdﬂiennlned. In|

g%ﬁdmssmm&ﬂnmndhgwmmmhﬂwm emmple instruction: Add

A) Absolute mode

B) Iromediate mode

C) Reglster Indi rect mode
D) Based Indexed mode

N\bhu}thafonowhglstmedmutdwdmpulm? .

A Cbudlirmaoﬂenhavemstefulexcessmpaaiylomﬂbrsemspkuw arunot

as green.as traditional computing. -:" - o
- B) Chu? firms are often located in warehouse-styte bumgs deslgned for oompulers not | -

people.

C). Cloud firmis are usually crammed inside inefficlentty oooted dmwntcmn mgh-ﬂses

D) Cloud computing firns often have dala cenfers’ that are “not deslgned to pool and
efficiently manage computing resources.

An .:nahag signal camies 4 b|ts in each slgnal unit. If 1000 signal units are sent per second, find
‘the baud rate and the bt rate.
/) Baud rate = 1000 bauds per second (baud/s); Bit rate = 1000 x 4 =4000 bps
) Baud rate = 4000 bauds per.second (baud/s); Bif rate = 4000 /'4 =1000 bpu . °%
C) .Baud rate = 4000 bauds per second (baud/s); Bit rate = 4000 bps :
D) Baud rate = 1000 bauds per second (baud/s); Bitrate = 1000 bps

What Is the’ tfruerenm between network architecture and applkalm ardﬂtecmfa?

£) Network archifecture refers to organkzation of communication into | ayers (e.g., the five-
layer Intemet architecture). Application architecture, on the other hand, is designed by en |
application devéloper and dictates how the application is (e.g., client-server or P2P)

B} Network archifecturé Is désigned by a network administrator and dictates how the network
is(ag,dmuemranzPJ Application architecture, on the. other hand, refers o

. organization of communication into layers (e.g., the fiveayer Internet architecture).

C) Network architecture and Application architecture are the same concepts.

D) Network architecture means cllent-server. and Application architecture means P2P.

Match Column P with Column Q, In the context of computer retworking.
[ | ColumnP | | CoumnQ |

= -10 -. -
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a) [ The Web NG
(b) | File Transfer (@ | Telnet
() | Remots Login (W) | sMTP
(d) | Notwork News | (i) WP
(o) | emas — L) [ NNTP

A) (BHN’} ()-0): (eHm; (

B G Oy O owo@ .
C) (e:W): M)GE): (cHI(d(iv); (eHv) ~ " - - o -

D) (a(w: {DH“J (cH: ( )8 (OHF'} : -

a5

The vu!us of the foliawmg aril.'mmhc t—xpresshn mtlen h post-fm notation and ushg a ttack will |-

P401Bs;45,+,_ E T
A1
“B) 2 - 3 P e nooo |
. .C).33 , . i wchﬂﬁ !
BT i n : .
|

86

Thamumryaddrmdﬁnheiunemof cmbenluﬂaﬁedhyﬂnfpnnuh Y )

R)."LOC(Array{Bl=Base(Amay) He(5-lower bound), Mwhmemwwﬂsp«-

y-call for the

B) lOC{FﬂmﬁD-hu{Nmy[S]}ﬂS-lqw bound),. where w Is the number of wcrda per | .

memery cell for the

c) LOC{An‘aﬁSD—Basa(NﬂyHDﬂﬁ-Uppor bound), whem wis Iho n_umber of words per |

_memoxy cell for tha array

u) LOC(NTaylsj'Bae{Nmy)ME-Upperbcund} nhemwbﬂnnunburdwdsper:

nmmoelfwﬂuarmy

‘.

%bhdmehhﬂhchodamhonscanbuusedbmm&udahkedistdatam? ) '. &

A . struct néda { Int element; struct node “next;); -

" B)" struct node { Int element; struct fiode néxt ;%

C) struct node { int element; struct *node-next ;};
D) :lructnoda{intabrm'll. int ncxl}

88

In databases, remrenﬁal Integrity dx:l:lﬂe that
A) the valtia cf a primary key muc! £zpcar in < icfeign key of tho reiatzd lab]f‘.
' B) - the value of a foraign key must appearln a primary key of the related {abla,
C). the value of a'primary key cannol appear In a forelgn key of the related table.
D) the value of a foreign key cannal appear in a primary key of the related tzbla

B9 | When you discuss use of disks as storaga media, what do you mean by the term seek lime?

_-A) Thctlme spent waiting for the disk to start spinning fast enough

B) The time spent deciding whero we should look on the disk for the data in queshon

C) Thehmspentwahrgtord’:skdﬂvatomvehheadstoﬂwmmpos&hn ot
D) The lime spenlforaraqueslod:adortomtahundermaﬂmruad

uumpmgmunkmehUwUNWUmmOmeSystantomhpmeumd
‘processes with that of __ : processes.

ﬁ.} WMmend
© B) Parent, Child

C) VO Bound, CPU Bound -
D) Cd&al.Non—aﬂhl

11
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can -
91 | Consider the following direct proceas slale Fansilons. Brmmﬂhhmmuhalnpummm
transition directly from tha first stats to the second without passing through T;ﬂ“—‘"“"fr‘;dﬂﬂ
Which of the direct state transitions listed below can or cannot occur (Yes if pec
It cannot ocour,)?

l. Running —+ Ready. -
Il Ready —+ Running
B[ Ready —+ Blocked
V. Blocked — Ready .
. Running — Blocked
v, El-ndn:ed - Rmniﬂg

A) i-*Tni. II—-":’&::III-—-Hu wmru V—+Yes: Vi—+No
B) 1—Yes; ll-sNo; lll—sMo; [V—Yes; V—sYes: VIaNo
C} I=Yes; llYes; ll—=No; IV—Yes: V—Yas: Vi—Yes
D) l=Yes; Ii—u‘fﬂs III-+‘|'"|:-|= V—Yes; V—Yes; VisNo

wiﬂi

) mmmm-lgmmmmmmfaﬂm .
L mwmmhmmmmummm;hbﬁh
qﬂmﬂmldrmdnl i
In. mmmummmmmasmwmmmmm )
Which of the above statements are TRUE? R AN 1'-!119;*‘___,...._
Ay~ Tonly . o, 5a s -
" B) lionly e TR ey S 8?"’ : :
¢} 1l only , T B - : .
D) Allofl, 11, apd Il . -

83 | The OS of a computer may pemdmll?mueclall the free. rnn.emq‘jr space:lo form nmﬂsﬂms block
- | of Iree spaco, This Is called

A) Concatenation - ’

B) Garbage collection

C) Collision

D) D‘},.'n amic Memory Mncaﬂun

24 | The infial phase of a compiler Is:

A) lexical analysis or the scanner
B) synlactic analysis ‘or parsing . : ' :

C) semantic analysls and Intermediate code generalhn ' & . r
C) madinn Independent code improvement : '

g5 rﬁmhmnlmhwmma:mhhammskkumunn

96 %Imnfthﬂfuh#hgi:mUEmgnmﬁnghﬁng-badendidmguﬁﬁm
L. Ainkhq-hadupﬂhnuhhlrﬁnghadfngwuxeuﬂbnmmuﬂen A

I, Aﬁmmmmmtmhmemematmd to be processed
a loader for axecution al any moment. ' e . v

.-‘ -, 12 : --
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th. Ai‘“’ih‘ﬂ-haderwouldbeuseluhlimibns b\;ﬁ«u ' necessar
it ks not necassary to -
o he ere it ks
A “land | hr PPESKien progran oy ‘

B) I, Nl and il : g

C) Illand Il| only

D) Iandm'omy '

97

Il(le) —(152),.ﬁmthavalaecfbasexls 'L'. e F o g . :
Ns BJG_-"C_]}'_ - D a o

I--‘ c e

98 AnRLCrasnnanldrcunhaaarasoﬁncafrequ of 1.6 M 1.
mmamwmomu |
c=150pF.monm.mmmma:morm:§mmm , 1
A2950- © BUIsQ  0sda .. D470

89-1 A 3phass, -mmsupplyfe&d abadcgnslsﬂngofﬂ:reeaqualmﬂsbﬁmmed‘w H one of
v | the rnslstnrsisopendmunad then percentage reductlohhtholnadwﬂl be ‘% - ) :

b A5 .. B)Ca.L03- c).sq_, 100333
100 Thaamaqepmvordeivemdbanhpedm;ﬁ( +po byism '1'4.14.-.!.—(37?1;& L
iiAM 4daw e 18w [ C) “DJ1 T

' :..mlniammmo&mwdfﬂf WW“’“
T A Maiwerrs bridge” B:smermﬂgidqa nmmswbrﬁﬂo . DJ..

' 102 1phwa&notuhm:tedtoum'apawmumed bfus.l-om‘load&whwhmm:u:e 3
| . " voltage 1o ledd the current by 30 deg. thathne‘lerrm'p? : T

A) 1.25°103 _'B)0.725*103 - c)ﬂua?'fua mfmua & o
m .ﬁupﬁnwwh&mdmmmbewuhedﬁnmﬂw ﬁDH:ﬂlpply l!uuuoﬂdary

.. | output votags wllbo . . 2
A mav o#w T e E

: 10:4' Forthad:muahom F.ndn-.rtmacmmmmmmemfoﬂstame

; NEA B)2A C)10A - DH:'& _
105 MwmtmmuwmﬂKDruslstan*uinmmmis ;
A)OmA B)imA  C)2mA u;am B '_:m
| | - b |

58 momrmmmw ‘-; )
= “:}RP-,A“RIHI B) Ri=0 A== R0=0 C) Rizm A==,RO== D) Ris0 A==, R0=

107 | A Wheatstone bridge cannat be Imﬂ’f'*“l"""“""’" measurements becuuss emovs &0
htrodmdmmmﬂcf :
A) mhtmcuufoormcbng leads

) ' 13
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C) contact resistances'
D) all of the above '

108

By uslag two wattmotor method one can measure .
Pawer In Balanced circuit only .
B) Power in unbalanced circult only
C) Power in both balanced as well as urbalancﬂd t;lmuits
D) enly single phass pm-e.r
109 | Coro o tas

Core ﬁl;!fltmnsl’urmer Is hmlnatad In order fo-
., ncrease the mox 2l strength
' 8) Decreaso the hysteresis Joss . —- ' :
C)Decreasa the eddy cumrentibss = -
D) lnl::rezsa the 'I-eakngu reactance W T

110}

A 4 pole’ dc gmeratnr Is runnlng at1 soomm The' I'requencf of wrrenl inthe mmahrn wh:ﬁng will
A) 25Hz B) 50Hz C)100Hz.. - ' D)200Hz

Ifnhhdu%rndchlmhnmm:mm ndltndsh

A}iﬁ'nchrmmrrmur a}mmmm«%mmm D}lm’ﬁﬁ'ﬁﬁoﬁ
117 Tmmlmuxmd‘fmmhmmumﬁﬂm rupedwﬁr'togmf{nié%muamﬁm ‘
. 'E,“; ﬂﬁmmm hul'udged vith gwhfnm.aum _ , nwie
C)Xlsmotesonsifve - -+~ " ¢ o . b S T Bﬂ&

D) Y Is'more sensitive L $

XTE

s

113 “mmtﬂiqu“ﬁmﬂﬂirm:dhnnmrﬂmnd mt—:x Irjdut:tim nmhpiﬂu'md whm
+ |-the major considerstion Is

Nh]ghstmimlu-qm Ejlnww’ndégahﬁas C}sh-rspeadaperﬂm n}wumnm
114 Thunurnbarnﬂum,-.

e uumlhm'rglltmmnhiaanamdnuhlaﬂ.ﬂmﬂunmﬁmmnstam
m . . S LS .
AT B]ET‘ T c;-n' D) T72.
115 | ‘Awaltme.z2r 1125 a range ufiﬂmwmhnnenurn{ﬂ%nrrullscal_dﬁnmuﬁm Irl'.lw'lmupmr I
passed through it Is 100 W, then Ihe relative errorwould be i
- A}:m% . B)+5% Cyz1% D]tﬁﬁ%
116 I‘lhs-uﬂ res nurdm\-.rsamrrentnﬁﬁunhmnluuwrigure Ihawrunnfmlstancaﬁls
- 1:
ST SR
A) 40 B) 60  C)8a D) 180
117 | Avoltmeter shouldhave R
* A) Low intemal resistance .o .
B) High Intemal resistance
C) Electrpstatic plates . , ‘
D) A sensitiva amplifier
118 Anmtarha:madlgm\gum—&ﬁandhhemalmﬂmnuufﬂzohm hmﬂartumﬂmﬁu

range 0-25A we need o add a resistance in

_ 14 -

-
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A) paralilel to (he meter . - .
B) serles to the meter :

C) any one of the above .
D)bothA&B ' _ L w5

119

‘When comparing the conversions from digll:al—b—analog and anahg-!n—diglta!. the AD norwershn &

Is'generally
g) less complicated but more time.consuming than the VA convérsion . -,
JNUGMDHmtedandmmﬂmmmmaDmmﬂm .'
C) more complicated but less time consuming than fve D/A conversion .
D)hssmmmmmmmﬂrmmmeUAcmvm . W

120

\mmmdewibesu-mmmumexpodedmnmwmnmwmmﬁtmlmm
A)Reso[uhon . B}Predslion - C)Range.: . D) Accuregy. - . .

121

A 3-phase, 400 VoIS, mn:,mom 4puhsqukmlcaguhduchunmtorwm&ratoddpd2% -

-

will have a rolor speed of . - .
A)1500rpm. _‘B)‘ld?ﬂrpm . C)1=30mpm. - D)157Urpm

iz

Treﬂornodudnmhtom?knmwﬁhﬁamolm%h

. -A) Red, violet, red gnd silver. - .. Vi ! ; * T sﬁ‘-
: : ' - mEE ks 7 s pawaTEC pe

B) Red, violet, yellow and gold . . 4
C) Red, violet, orange, ﬂva.r P . P Tl LR
D)Rad vldot.red god - - T gt LT L SRR ER

EFE

{Z Azodekan B)zmsw.m - c:zowm i nds

Acenaln appﬂamusasasow wuhmmmmmmwgrz{-damhv&mw E

vaﬂ-!mursolmqydaoskcom? - :
L m¢4m

124

" - B)The plane of the oop s rpmﬁmhrhuamgmthfk
i cifmm"dmmmﬂmmmﬁuwmuammemﬁm wc{mﬂ'
D)Thﬂhducedumenthmﬂsarmhalmﬂims .

What czuse these holes?

uicondw:!or lor has some holes In it: at room temperature.
D) Valenca clecirens

7o BTN Sic S
) Fred eledrans C) Tl‘"n'n... energy -

A) Doping

n-trpa emlccnducior is .
MAJ Posﬂirely charged B) Elecfmaw charged c} Nagatrvery charued D) Neutral

Hl-(Grp:EEb) /A2014 -

ed LEDIs usuauy iabdculed from .
‘““A"}"g‘e ' B)s C) GaAs D) GaAsP

128 |nmmumalmodulauon Index-exceeds the unky then

will fail
B}An-plﬁefm'ﬂbedamaged

C) Current Shunt feedback
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130 | Choose the commect order of efficiency of power amplifier.
A) Class A < Class B <Class AB < Class C
B]Class{':cCIassBcCiassﬁ.B-:ClmA
C]ClassA-cclasshB-:G!assﬁﬂmassG
D]ClassA-:ClassE#Classc-cChasAB

131 | Which of the following & used for ommrting e sine wave into a square wave? °
A) Astable multivibrator i ) e, v
B) Monostable mufivibrator : ' :
C) Bistable multivibrdfog .
" D) Schmit trigger :

132 | To avold thermal runaway - S . b :
' A)Vee<Vec/2. B} VeexVec 12 C) Vee< Ve D) Vee> Vec

133 | A votimeter Is connecled acrpss a silicon dlode hmring cut nﬂwltaqe 0.6 V. What will be the ~

reading of the voltmeler?
- A0V . ¢ B)0SV _ cjuw D}Readngwillmduat&

134 Apowm‘su;tplyhasahllbadwmgudﬂv thmbﬁwﬂgﬁfﬁS%mﬁuhﬁ"
. -(mundadtnneprasthteged‘? ) '
R AN c;zsv o DHW .

735 AFEHsahclterdnpperhanaBJTbecamitﬁu E ST o ﬁ\pﬁ :
- A) Lower offset voltage ', et o : :
B) Higher serles ON resistance : . ) ’ o
C) Lower input current :

-- D) higher input impedanca

113 Anmghtbctbharymphupmuntermmmmaasshhoummammwhﬁm - What"
" | will be the count after 135 dlock pulses? %
A)OD-DOG‘ID‘I S B, “C)00000110 . - D]DODDNH g

137 | A 10. kKW carrier is. smusmdally modulated by two camiers’ conesponcr ng to a
-modulation inde.: of 30 % a.i 4N % respecitiely. The total fadls ardrweris -

A)1125]M.' B 125kW o C)15KW D) Tk ;e g
138 In a super heterodyne receiver 1he IF.is 455 kHz rf it Is tuned to 1203 I-d-lz. the 1mage frequency
will be . . .
1 A745kHz B}kaHz C}1555kHz _ ) D}211ﬂkHz

-

139 [ A 4-tit ripple counter consisting of flip-flops that each haw a pmpagalbn delay of 12 ns from
" | chock to Q output. For the counter to recycla from 1111 to 0000, i takes total of

A)i2ns - - B}24rts - " C)26ms " - - °  D)48ns

140 AbandpﬁsslgnalhaaasignmmmnqmnmtsInlharangaofiSMHzmzm-[zlf
the signal ks said lo bé reconstructed from its samples, the minlmum sampling frequency will be
A)dMHz = B)1MHz. . C)2MHz D)3SMHz

141 Thefmeeledmndenslyhzmndudofbﬂﬂﬁ)anm Theeleclmnrnobililthm vis, . :
Nmthmavalueofﬁresbhvﬂy?
A 10* ohm-m )1sx1o4ahm-m C)10* chmem D) 10° mhocm™

16
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" - |.146

. .| message
.| maxdmum values of mmmmmrm

A) 85 kHz and 105 kHz
B) 90 kiHz and 100 kHz:

' C) 88 kHz and 102kHz

D) 80 kHz and 100 kHz

-

17
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142 ln-HOSFEr mwormmmnmummmmmdmmm
dﬂ“mpwame{els '
A) Threshold voltage and output B
B) Trans — conductance and output resistance
C) Threshold voltage and trans-conductance
D) Trans-oondudanoe and channel length modulation paramelers
143 A:mFerrribevalmeigyo!dmris&wa“hulm uuvehutyommfasusteloctmmsw«
. llﬂKaMn(Gwanmstmmdehcum =0.1x 10" kg) Is _
A)aaaxm’ .,E]izsxiu'm's '0)440:10m!s ,maxw'm.rs
44 | Aole In semicondudiorhas N
& .1)Pcsitwenharguequdtoﬁ:oelec:mndmr;a 2}Posiﬁvomeqmllomauoleladlm 3}
an effective mass greater than effective mass cfelaclmnd)ﬂegaﬂva mssandpusl!mdwuﬁ
"equal to charge in nucleus
_%Ichofthafulbmnglsﬂwmmdnwar' . - ) '
f A)123and4 B)1ar'd3m!y I‘Q}-Eandaqruy D}31QM4,WW-
145 | Consker the Tallowing devices: e Sk .
’ _ 1. BJT In CB mode zBJThCmmda " 3.JFET h-uos::ET : f: :
: Thanonduqmnuo!ﬂmodwbuhhammﬂdﬁquh@i_‘hpuihped&ncﬂ! hl
A)1.2:34 ‘B)2134° 1} - 02443 0)133-
momwnﬂmhmmmhaﬂwThatypedﬂterandhmmrewdwm
respectively: S -
A}nghpass 1000radfsec S
N B) Low pass, 1000 rad/sec
*.C) High pass, 10000 rad/sec g .
D}Lowpass 10000radrsec .
T 050 g = SRR -mﬁuh Icn.lgghrru&respecwelyare
147 ABA)rrSh?;tl525 m“}f?s"frf ) . 0)505 5.15 0}465 4.55
. ain cuirent of BmA, Ig -amA,Vﬁs(OFF} -ﬂvvpandvmrespecmer;are
1_19 AFE)I'-I.]E_:'s'.;djs\}nc IenB}-ﬁV W.,ss oo H 75V D)-iGV oV
145 | If the op-amp In the figure has an lnput cffset voltage of5mvand
opgnloopgalnofmnoomvgmlba :
A) OV B)smV  C)+15Vor-15V D)+5W°f'5°V i
. _ ' ' o . —ny
; . ' =
160 i c. wavewi’lhperbdw ﬁecwiih (D= [ =1V. The
Loimﬂ)beaper:d o a phase modulalor having Ke =0 radV. Themlnlmumand



